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4.8.1Single Indicators of Development

The Multidimensional Nature of Economic Development

= The 17 Sustainable Development Goals demonstrate the complexity of the nature of economic
development

= Thedifferent elements can be separatedinto three categories: economic, social and environmental

= Sustainable economic development occurs at the intersection of all three and is representedin the
diagram below

EQUITABLE

SUSTAIN-
ABLE

BEARABLE

ENVIRONMENTAL

Sustainable economic development is a multi-dimensional concept incorporating economic growth,
environmental care and social progress
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Viable refers to the fact that the combination of economic and environmental progress is happening
with some care, howeveritis not sustainable in the long term

Bearable refers to the fact that the interaction of society and the environment is happening with some
thought, howeveritis stillnot sustainable in the long term

Equitable refers to the fact that the interaction of the economy and society is happening with some
attentionto well-being, howeveritis stillnot sustainable in the long term

Due to this complexity, elements of economic development can be measured using single or
composite indicators
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Single Indicators of Economic Development /
= Asingleindicatoris one factor, such as GDP per person (capita), used to measure the development of a Your notes
country

= Singleindicators measures only one development characteristic within a country

1, GDP/GNI per person (per capita) at PPP

= Real GDPis the value of all goods/services producedin an economy in a one-year period - and
adjusted forinflation
= Forexample, if nominal GDP is £100bn and inflationis 10% thenreal GDPis £90bn

= GDP per capita = GDP / the population
= |t shows the mean wealth of each citizenina country
= This makesit easier to compare standards of living between countries:
= Forexample, Switzerland has a much higher GDP/capita than Burundi

= Gross nationalincome (GNI) measures the income earned by citizens operating outside of the
country + the GDP
= Many citizens employ their resources outside of a country's borders - and then send the income
home

= Purchasing power parity (PPP) is a conversion factor that can be applied to GDP, GNIand GNP
= PPP calculates the relative purchasing power of different currencies
= |tshows the number of units of a country's currency that are required to buy a productin the local
economy, as $1would buy of the same productin the USA
= Theaim of PPP is to help make a more accurate standard of living comparison between countries
where goods/services cost different amounts

= Usingreal GDP/Capita provides betterinformation thanreal GDP as it takes population differences
into account

= Usingreal GNI/capita is a more realistic metric for analysing the income available per person than
GDP/capita

= Using GDP/GNI per person (per capita) at PPP allows for comparisons between countries which take
into account the substantial differencesin the cost of living

2. Health and educationindicators

= Multiple single indicators for health and education can provide useful data for comparisons between
countries
= Typical single healthindicators include:
= |nfant mortality rate
= Life expectancy
= Numberof doctors per1,000 of the population
= Diabetesincidence
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= Typical single educationindicatorsinclude: /
= Youthliteracyrate
= Adultliteracyrate Your notes

= Meanyearsinschool
= Ratio girls/boysinschool
= Mathachievement 8th grade

3. Economic/social inequality indicators

= Typical single economic and societal indicators include:
= The Gini Coefficient
= Murders per 1000 of the population
= Percentage of womenin national parliaments

4. Energy indicators

= Typical single energy indicatorsinclude:
= Coal consumption perperson
= Electricity generation perperson
= Residential electricity usage
= Oilconsumption per person

5. Environmental indicators

= Typical single environmental indicatorsinclude:
= CO2emissions perperson
= Total CO2 emissions
= Agricultural water withdrawal
= Primary forestarea

Page5of11
© 2015-2024 Save My Exams, Ltd. - Revision Notes, Topic Questions, Past Papers



https://www.savemyexams.com/?utm_source=pdf
https://www.savemyexams.com/

1, SaveMyExams

Head to www.savemyexams.com for more awesome resources

4.8.2 Composite Indicators of Development

The Human Development Index (HDI)

= Economic developmentis the sustainable increase inliving standards for a country, typically
characterised by increases inlife span, educationlevels, & income

= Compositeindicatorsinclude indicators such as the Human Development Index (HDI), the Gender
Inequality Index (Gll), Inequality Adjusted Human Development Index (IHDI), and the Happy Planet index
(HPI)

The Human Development Index (HDI)

= Developed by the United Nations, itis a combination of 3indicators

LIFE EXPECTANCY | | EXPECTED YEARS | | EDUCATION
INPIGATORS AT BIRTH OF SCHOOLING INDEX
MEAN YEARS OF
SCHOOLING
DIMENSION GNI PER CAPITA GINI
INDEX LSl (PPP $) INDEX

| /

HDI HUMAN DEVELOPMENT INDEX

The components of the Human Development Index

1. Health, as measured by the life expectancy at birth e.g.in 2019 it was 81.2 years in the UK
2.Education, as measured by a combination of the mean years of schooling that 25 year old's have
received, togetherwith the expected years of schooling for a pre-school child
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3.Income, as measured by the real gross nationalincome per capita at purchasing power parity (PPP)

= Eachindicatoris given equal weighting in the index
= Theindexranks countries onascore betweenO &1
= Thecloserto]l, the higher the level of economic development & the better the standard of living
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The Human Development Index scores from 1990 to 2021 (Source: UNDP Data Centre)

= Avalue of <0.550is consideredlow development e.g. Senegal was at 0.514in 2021

= Avalue of 0.550-0.699is considered medium development e.g.Bangladeshwas at 0.667in 2021
= Avalue of 0.700-0.799is considered high development e.g Thailand was at 0.777in 2021

= Avalue>0.800is considered very high development e.g. Austriawas at 0.918in 2021

Inequality adjusted Human Development Index (IHDI)

= Createdin 2010 to deal with the lack of information that the HDI provides on inequality

= TheIHDIwill be equal to the HDI value when there is no inequality, but falls below the HDI value as
inequality rises

= This means that the IHDI measures the level of human development when inequality is accounted for

= The difference between the HDland IHDI can be expressed as a percentage and represents the lossin
potential human development due to inequality

= |tprovides greaterinsightinto the differences in human development that existin a country as
opposed to the average human development
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Gender Inequality Index (Gll) /

= The GenderInequality Index (Gll) measures genderinequality using three dimensions: Your notes
= Reproductive health
= Empowerment
= Thelabourmarket
= Countries are graded onascale of 0—1
= Thelower the value the better the inequality between men and women, and vice-versa
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Sweden, Peru and Yemen all score vastly differently on the Gll index with Sweden the most equal and
Yemen the least equal (Source: UNDP Data Centre)
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Happy Planet Index (HPI)

The Happy Planet Index (HPI) attempts to measure sustainable wellbeing

4

Your notes

Countries are ranked by how efficiently they deliverlong, happy lives using the earth's scarce

resources in a sustainable way

The HPI scores countries with alower ecological footprint higher than countries with more

environmental degradation

The HPImeasures a country's progress using three variables
= Wellbeing
= Life expectancy
= Ecological footprint

wellbeing X life expectancy

HPI Score = : -
ecological footprint

LIFE ECOLOGICAL

COUNTRY EXPECTANCY FOOTPRINT

COSTA RICA () 80.4 years (O 7.00/10 | @ 2.65 gha/p

VANUATU

COLOMBIA O 77.3 years () 6.35/10 @ 1.90 ghasp

CENTRAL
AFRICAN (0 53.3 years | (O 3.08/120 | O 1.21 gha/p
REPUBLIC

MONGOLIA 69.9 years 5.56/10  (010.08 gha/p

C}lﬁ_ﬂq gha/p

24.3

The top 3 and bottom 3 countries on the HPlin December 2022 (Source: Happy Planet Index)
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4.8.3 Evaluating the Different Approaches

Evaluating the Different Approaches used to Measure Development

All developmentindicators have limitations

Due to the multi-dimensional nature of economic development, itis necessary to use arange of
indicators in order to gain insights into the many dimensions of quality of life, well-being, human

development and happiness

Composite indicators provide betterinsight than single indicators
Single indicators can be usefulin targeting just one aspect - orin prioritising different aspects of

development

Qualitative data is used to measure many aspects of economic development and this can be subject

to bias and errors in data interpretation

It requires time to gather qualitative data and this means that the data often lags reality by several years

Data collection and statistical reporting is subject to political agendas and often the data presented
has to be questionedinlight of these e.g. many Middle East countries moved from the bottom third to
the top third in the GenderInequality index (Gll)in 2017, a very unlikely transition in such a short time

period

The Advantages and Disadvantages of Using the HDI

Advantages

Disadvantages

Itis a composite indicator which provides a
more useful comparison metric than single
indicators do

Itincorporates three of the mostimportant
metrics forhouseholdsi.e. health, education
andincome

Itis widely used all over the world which provides
an opportunity for meaningful comparisons

It provides a goal for governments to use when
developing their policies e.g. it may help identify
that the education levels are holding back
improvements to the HDI and government
policy cantarget that

It provides citizens with an understanding of how
their quality of life compares to other countries

= |tdoesnot measure the inequality that exists as

ituses the mean GNl/capita

It does not measure or compare the levels of
absolute andrelative poverty that exist

For many countries it does not provide useful
short-term information as gathering the data
required for the calculationis difficult. This
means the data often lags reality by several
years
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The Relationship Between Economic Growth & Economic
Development

Data shows that economic growth often has a very positive impact on economic development
Economic growth can lead to higherincome, however, the equity in the distribution of thisincome
influences the level of economic development that occurs as aresult

= Where the equity in distributionis higher, economic developmentis greater

= Where the equity in distribution is lower, economic development is lower
Inmost cases growth precedes development, but hisis not always true e.g. Bangladesh used arange
of strategies (including micro-finance) to transform the quality of life for many households
In some cases (usually in developing countries) economic growth is tied to one industry & generates
sO many negative externalities of production that the standard of living decreases for many even as
growthincreases
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